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nomre = int (input()) Sk Yo opald
if nomre>= 18 and nomre <20:

int (“kheili khoob” . . - .2 . .
print (“kheili khoob”) etk | Vel 5525 5 VA (slue 535,55 05ed

elif nomre>=16:
print (“khoob”)
elif nomre>=14:

@9 | VAl 5SasS 917 gl 535,50 0ped

Y print (“motevaset”)
elif nomre>=12: bgia VP 3 55295 9 1 F (sglune 555 e \
0 ol print (“bad”)
elif nomre>=10: & VF 5l 5SS 9 VY (sglue 55,50 050
print (“kheili bad”)
else: Saks | VY55 5 Ve sbenn 55550 050

print (“mardood”)
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suml = 0
for i in range (17):
v nomre = int (input())
suml = suml + nomre v
S moadel = suml/17

print (“moadel:”,moadel)
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t =20
for i in range (30):
moadel = int (input())
if moadel >=18:
t =t +1
Y
v
0 o3 print (“tedad:”, t)
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moadel = int (input())
highest = moadel
for i in range (149):
v moadel = int (input()) ¢
0 yod if moadel > highest:
highest = moadel
print (“balatarin moadel:”,highest)
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import random as rnd
A name = input (“name?”)

ol code = rnd.randint (1000, 9999) o
> dahgan = (code //10) % 10
if dahgan % 2 ==
print (name , code , “rooze sabte nam: shanbe”)
else:
print (name , code , “rooze sabte nam: seshanbe”)
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Y import random as rnd
n = int (input (“tadad?:”) :Jha 14
0 o for i in range(10):

shomare = (rnd.random()* (n-1))+1

#0 1 co
print (shomare) $°99
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